
 

 

Computer Science I – Summer 2011 
Recitation #5:  Summation Practice (will be tested AGAIN on Final Exam) 

 
 

1.  Determine a closed-form solution for the following sum in terms of n:  ( )∑
+=

+
n

ni
ni

2

1

232  

( )
( ) ( ) ( ) ( )

( ) ( )( ) ( ) ( )133312431122

3112236
2

12
2

1222

33223232

222

333

1

2
2

1

2

1

2

1

2

1

2
2

1

2

1

2

++=+−−+=++−+=

++−+=−+
+

−
+

=

−+−=+=+ ∑∑∑∑∑∑∑
====+=+=+=

nnnnnnnnnnn

nnnnnnnnnnn

nniinini
n

i

n

i

n

i

n

i

n

ni

n

ni

n

ni

 

 
 

2.  Determine a closed-form solution for the following sum in terms of n:  ∑ ∑
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